ECON 200
                                                                                 FALL 2006
EXAM I

  PROFESSOR LEFFLER


Answer four of the six questions.  If you answer more than four, only four (randomly selected) will be graded.  Each question is worth up to 24 points.  4 bonus points are obtained by simply putting your name and your TA name and quiz section letter on your bluebook.  Explain each answer.  Your score depends on your explanation.  You must use a COMPLETE EXAM BOOK and a PEN.
CHOOSE 4 OF THE QUESTIONS.

1. Explain each of the following:

a.  The substitution posulate.
b.  Inflation.  

c.  The costs of trading.  

d.  The parameters of demand.

e.  Diminishing marginal value.

2.  Jody just got back from buying candy and soft drinks at Fred Meyer.  She paid 50¢ per candy bar and 40¢ cents per soft drink.  Her friend Chris also just shopped at WalMart, paying 60¢ per candy bar and 20¢ per soft drink.  Jody bought 6 candy bars at Fred Meyer and Chris 8 candy bars at Wal Mart.. 

i.   Does Chris like candy bars more than Jody?

ii.  After their shopping, do you expect them to be able to be better off by trading with each other?  

iii. If they trade, what would you expect to happen to Jody’s marginal value of candy?  

iv.  If Chris also bought 4 soft drinks at Wal Mart, would she have preferred the Fred Meyer prices?
3.  Does each of the following make economic sense?

a.  “2006 was a record crop year for soy bean farmers.  Thus times are particularly difficult for these farmers.”

b.  Food, shelter and clothing are basic human needs for all people.  However, as a society becomes wealthier, other things such as medical care and education become basic needs.

c.  Governments can't correct a scarcity but they can correct a long lived shortage.

d.  A consumer’s marginal value can be inferred from his demand schedule.

4.  Answer each of the following:

a. U.S. gas prices reached record levels of $3 per gallon in May 206.  The price stayed at this level until September.  Using U.S. consumption data in April compared to May, the elasticity of demand for gasoline was estimated to be -2/10ths.  Using data in April compared to September, what would expect the elasticity estimate to be?
b.  How would you expect an estimated elasticity of demand to differ for:

i. using data comparing consumption levels across states that have very different gas taxes and therefore different prices;
ii.  using data comparing consumption levels over time in a state where prices vary up and down over a range that is about the same as the range of prices across the states in i..
c.  How would you expect the estimated elasticity of demand at some given price to differ for:

i.  a community with high average family income compared to a community with low average family income?

ii.  a community with good public transportation system compared to a community with no public transportation.

5.  The following is an indifference schedule for Chris for Food and Drink:

                          a     b     c     d     e     f      g

Chris   Food      6     5      4    3     2     1     0

           Drinks    0     2     5     9    15   21   28

i.  Does Chris’s preferences follow the (first) three fundamental postulates explained in class?

Kim’s indifference schedule is:

                           a    b    c     d     e     f      g

Kim     Food       6    5    4     3     2    1      0

           Drinks     3    6   15   25   36   49   64

ii.  Kim and Chris each have combination d.  If Kim and Chris met up, what is the maximum surplus from trade of drinks that Kim could have?  What is the maximum surplus of food Kim could have?  What would she prefer, the surplus of drinks or of food?

6.  True/false explain.  
a.  If the Demand for a good has little response to an increase in income (low income elasticity), it is more likely (than if the Demand responds a lot to an increase in income – high income elasticity) that the poor will get more of the good if a price control is imposed and the good is allocated by waiting.

b.  Trade occurs because because two or more consumers have a surplus of different goods.

c.  By limiting the price that consumers can pay for gasoline to a price below its equilibrium level, the government can reduce the competition among consumers that leads to expensive gasoline.

d.  A seller that can choose its price would not set a price where the demand was inelastic.
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